NAME: GRADE: DATE:
TOPIC: Sets of Teeth
INSTRUCTIONS: For each question, there are four suggested answers- A, B, C and
D. Read each question and the suggested answers carefully. When you have
selected an answer to the question. Circle the letter of the answer you have
selected.
1 Which type of teeth is not found in the full set of temporary teeth ( milk set)?
A R P Q R S
B. S
C. QandR
D. RandS
. What is the total number of tooth S in a complete set of human permanent
teeth ?
P Q R S
A0
B. 4
C. 8
D. 12 .
3. Which teeth are found in the full set of human temporary set or milk teeth?
P Q R S
A. P, QandR only
B. P,RandS only
C. P,Qand S only
D. PQRandS .
4, What two types of teeth would together total 16 in the temporary set of
teeth?
P Q R S
A. PandQ
B. QandS
C. PandR
D. RandS -
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